st/ oty
es.s.cxﬁg énity-six

O Y pOK

Dialogue:
Grammar:

“l can’t stand Heavy Metal!”

The “Cluster Buster” (Introduction)

The Accusative plural of nouns,
possessives, and adjectives

Conditional sentences

- Uses of Obl

- Placement of Obl

JAuanor
A TepnéTb He Mory x3Bu-méTtann! I can’t stand Heavy Metal!
(Mapk returns home. On OvLn 6 mMacastine.)

Wuna: 1 | Yro B Memké? YUTo THI Kymin? What’s in the bag? What did you buy?

Mapk: 2 | 3ejéHbBIE MOJIOTEHIIA. Green towels.

Wnua: 3 | Ilouemy 3enénbie? ThI ke 3HAM, YTO S XOTENA Why green? You knew after all that I wanted
4 |kénThle MOJOTEHIIA. yellow towels.

Mapk: |5 |Her, 1 He 3Han. Ecin 661 5 30T, 5 GBI Ky No, I didn’t know. If I had known I would have
6 |>k€nThic mOJOTEHIA. bought yellow towels.

Wnna: 7 | Yrto emé ThI Kynui? What else did you buy?

Mapk: 8 | KoMmmakr-gackm. (Some) CDs.

Wnna: 9 |Kakne? What did you get? (Which ones?)

Mapk: 10 | X3Bu-MéTasw. Heavy Metal.

Wnna: 11 | Tel e 3HaenIb, 4TO s TEPNETH He MOTY XEBU- You know that I can’t stand Heavy Metal!
12 | méramn!

Mapk: 13 | Ecim ObI 51 3HAN 370, s OBI HE Ky 3TU AUCKH. If I had known that, I wouldn’t have bought

these CDs.

CaoBapsb

1 | memok’ (0) bag

2 | 3en€HbIN green

IMOJIOTEHIIE towel
4 | KENTHIN yellow

5 | éciu OBl

OBl

if (conditional, + Past)

conditional particle (+ Past)

8 | (KOMIAKT-)IACK CD

10 | X3BH-METAII

Heavy Metal

11 | s Tepn€Th HE MOTY (Y4TO/KOTO)

(1) mory

I can’'t stand (+ ACC)

I can (this verb is somewhat irregular; just learn this one form for now)
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26.A The “Cluster Buster” Vowel

Yto B mewwke? (1)

The dictionary form of the word bag is memiok. However, in the first line of the dialogue we see the location
phrase B Mmemiké in the bag. Notice that the o is gone. So, the stem of bag is memk+’, which contains, even for
Russians, the unacceptable consonant cluster mx at the end of the word. In comes the Cluster BusterVowel' o to
the rescue. In other forms besides the Nominative, when an ending beginning with a vowel is attached, no Cluster
Buster Vowel is needed. For now, the only place you’ll see a Cluster Buster Vowel is Masculine Nominative
Singular forms. (We’ll see Cluster Buster Vowels in other forms in later chapters.)

=

Since you can’t really predict which forms contain a Cluster Buster, we’ll let you know with our notation of
writing the Cluster Buster vowel in parenthesis after the word: oreri” (e), memoxk” (o), aesb (). The most

[N Pe]

commonly found Cluster Busters Vowels are ‘0’, ‘e’ and ‘€’. Once in a blue moon you’ll see ‘u’.

Now we can see that ueii has the Cluster Buster e. The stem is ubli+, which has no vowel at all. So in the
Masculine Nominative Singular an e is inserted. No Cluster Buster is needed in the Feminine, Neuter or Plural:
ybs, Yb€, YbH, and Feminine Accusative 4blo.

As a general rule, it’s not uncommon to have a Cluster Buster Vowel before the consonant k.

@ Listen and repeat:

SINGULAR PLURAL SINGULAR PLURAL
1. orert’ (e) -> OTIIBI 2. amepukaner (e) > AMEPUKAHIIBI
3. wmemok’ (0) -> MEIIKHA 4. momapok (o) gift > OTAPKH
5. komenék’ (€) wallet> KOIIEIBKH 6. port (0) mouth > PTHI
7. neHb (e) > JHU 8. omun’ (n) > OIIHU some
9. wueii (e) YbU 10. motomnok” (o) ceiling MOTOJIKA
? | Question:  Why is it that when the Soft-indicating Cluster Busters Vowels €', ‘e’ and ‘w’ |

drop out, sometimes the preceding consonant remains soft, as indicated by ‘»’
(e.g., komenéx/komenabkn) and sometimes not (e.g., A€Hb/THU)?

|
i
i Answer: Very good question. It’s a bit complicated. For now you need to just
5 memorize what happens for each individual noun.

! Also known as “fill vowel” or “ﬂeetin% vowel”.
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Grammar

Lesson 26

26.b

The Accusative Plural

We’re happy to announce that the Accusative Plural is exactly like the Nominative Plural (except, again, for
animate nouns — both Masculine and Feminine people and animals), so we can’t yet say sentences like / see the
professors, their wives, and the rhinoceroses.

Accusative Plural
Nouns, Possessives, 31oT & Adjectives

NoMm SG

Nom & Acc PL

MASCULINE/ FEMININE (Inanimate)

0ss./3T0 adj. noun
Same as Nom Pl: P I IJ I
-1} -{l}e -1}
TBOH 00IBIION MarasuH TBOH OoJbImre MarasuHEI
BAII CHHUI CJIOBapb BaIIN CHHHE CIIOBapH
Ybs] pycckas KHUTa YbH pycckue KHUTH
Hvnnaa  mHTEpécHas ¢otorpadus HyianHb! WHTEPECHBIE ¢otorpaduu
3ta KOpAYHEBas  JBEPb 3TH KOPUYHEBBIE  JBEPH
NEUTER
08s./3T0 adj. noun
Same as Nom Pl: P I IJ A
-1} -{l}e -{A}
3T0 WHTEpECHOE  MECTO 3TH WHTEpPECHBIE  MecTa
HAIe noporoe PYyXbE HAIIH Joporne PYXKbs
CamuHo  xopoiee 3/1aHHE (@F:110050¢151 xopoime 3JIAHUSA

@ Put the English cues into the Accusative Plural:

1. Mama kymina (white towels, old CDs, black pants, expensive watch gacel, good dictionaries)

2.  Mpm1 nénu (Russian songs, old songs, new songs, English songs, Italian songs)

3. Kro uutédn (my letters, his books, these newpapers, interesting magazines, her articles craTbsi)

g@ Change the direct object from singular to plural:

Example:

51 Xxo4y KyniTh 3en€HOe MOJIOTEHIIE.

I'ne s Mory KymiTh pyCCKHii TUCK?

Jlama noér ¢paHIy3ckyro mécHio.

1
3
5. 51 ar00:10 MO0 TOPOTYIO MAIIHHY.
7

Be1 Bizenu er6d ¢oroanmapar?

9. Kakoii s3p1k yuut Cepéxa?

11. 51 He mOMHIO ATO 3IAHUE.

13. 4 Buepa rnanun XKaHHUHY FOOKY (skirf).

15. Ter He BAAEN MOH O0MBIIONH KPACHBIH METIOK?

=% AN

ToI BADUIIB UX PYXKBE?

(1 A xouy kynitme 3enénvie nonoménya.

A xo4y cuHIOIO pyOAIIKy (shirt).

Buepa Mama yntana xopOmmii xypHAI.

Hukro6 He BUmen MOt HOBBIH CIIOBAPS.

0. S untéro uHTEPECHOE MUCHMO.

12. S Tepnéth HE MOTY 3Ty 3€IEHYIO PYUKY.

14. 51 Tepnéth HE MOTY 3TO CIOBO.

16. ITouemy 3TOT agBOKAT CMOTPHUT Ha €€ 3eNIEHBIH

PIOK34K?
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26.B Conditional Sentences: Past Tense + Obl

Ecnu 661 51 3Han, g 661 kynun ... (5)

26.B.1 Uses of 0bI

The particle 0s1 is used together with the Past Tense of the verb:

1) To ‘soften’ wishes, normally with the verb xoré+:

Mpi xoTéau 0b1 yunuThes B [IprHCTOHE. We would like to study at (go to) Princeton.
Mamra xoténa 6b1 padoTats B [laprike. Masha would like to work in Paris.
Huxto6 He X0Tén 6bI XHUTh B UepHOOBLTE. No one would want to live in Chernobyl.

For now keep the phrase of xoTéa/a/u + 661 together.

@ ‘Soften’ the wish:

Example: Cons xOuer paboTate B MaknOnansace. [ Cous xoména 6v1 pabémams 6 Maxodnanvoce.

A (M) xouy nHTk.
Bépa x04er TaHIIEBATS.
OHH XOTAT NETh PYCCKHE ECHH.

Bopric xduer cToATh Ha TOJOBE.

A

A (F) xouy 3aHUMATHCS.

2) To indicate a hypothetical situation. This is normally expressed in two clauses: Ecin 651 ... 661
BOTH CLAUSES THAT CONTAIN Bbl MUST HAVE THE VERB IN THE PAST TENSE

Note that these sentences with 0b1 do not express Past Tense.

Ecan b1 5 3HaJI, 51 ObI Ky 3eJIEHBIC TTOJOTEHIIA. If I had known, I would have bought green towels.

Ecau 661 Kanna KHJIA B Hbm—ﬁépxe, If Zhanna lived in NY,

oHa 0bI unTana «Hero-Mopk Taitmey. she would read the New York Times.

Ecam 6b1 Tam 65110 (paHIiry3ckoe BUHO, 5 ObI UL If there had been French wine there, I would have
drunk (it).

Also note that only the main verbs must appear in the Past. The verb in the subordinate clause is in whatever
tense the context calls for.

[Ecau Ob1 s 3Ha1],  {mOYeMy OH KypHUT}, 1 ObI CKa3aJl. If I knew why he smokes, I would say.
Main clause subordinate clause Lower Main Clause
verb obligatorily in Past verb in this case in Present
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26.B.2 Placement of écsiu 061 and ObI

Ecam 6b1 is a phrase you never want to break up. It always appears at the beginning of a clause, and is normally
followed by the subject.

Giving exact rules for the position of 6sI (as opposed to écmu 651) is a bit more complicated. BsI very often
appears as the second element in the clause, though it is not unusual for 6»1 to come either directly before or after
the verb — but don’t put 6s1 between the negative particle ne and the verb. (We suggest you stick to the second
position — it’s the safest place for 6b1.) Here are some examples of the different positions of 6bI:

Ecan 661 TOns yurincs B I'apBapze, oH 6bI HUKOTJA
HE 3aHUMAJICA. (Second position)

Ecau 661 TOns yurines B I'apBapze, OH HUKOTAA Obl

He saHIMANCA. (preceding verb) If Tolya went to Harvard, he would never study.

Ecau 0b1 TOns yunscs B ['dpBapje, OH HUKOTIA HE
3aHUMANCA.OBI. (following verb)

You can reverse the order of the 6BI and écsin 0bI clauses:

ToOmns 0b1 HUKOTIA HE 3aHUMAJICA, €€ ObI OH YUIIICS
B ['apBape.

Tons HEKOTIA OBI HE 3aHUMAICS, €CJIM ObI OH YUHAJICS

s Cipapre. Tolya would never study if he went to Harvard.

Tons HUKOTIA HE 3aHUMAIICS Obl, €CJIM ObI OH YUYHIICS
B ['apBape.

(In case you’re interested, the placement of 6bI is the kind of thing that linguists study. Now that’s what we call
F-U-N.)

@ Combine the sentences and make them conditional:

Example: Biika yuutcs B [lprincrone. Ond 6e3 KOHIA 3auuMaercs [ ]
Ecnu 6v1 Buka yuunace 6 Ilpuncmone, ond 6v1 6€3 KOHYA 3aHUHMANACD.

Bépa xxusér B [laproke. OHA roBOpHUT MO-(paHITy3CKH.

Mg untdnm ra3éry. MBI He BCE meperry Taiy.

Bopst mndxo ceds uyBcTByeT. OH JIGKAT HA KPOBATH.

51 3uHaro, rae oH xkuBET. S ckazai.

41 3Ha11, 9TO THI XOUelb 0&MyI0 MamuHy. S Kymn 0&myro ManiiuHy.
Onwn yuatcs B [IprHcTOHEe. OHUM 6€3 KOHITA 3aHUMAFOTCS.

Ter He Kypuib. ThI XOpoIIO ceOs YYBCTBYEIIb.

S 6611 B 'epmannn. S xymir Mepcenéc.

A A A R o R

Hrna xuBét B Muncke. OHA HUKOI A HE MOETCSL.
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2< Exercise1 Change the direct object to plural:

1. S xouy KpACHYIO PYUKY.

2.  Mpl Buzenu 0obIIoOe 30aHUE.

3. Cons kynwia kpacuBblii memoOk. (think!)

4. Cama xyput pycckyto curapéry. (Even though we’ve never seen this noun, you can tell what the Nominative is!)

5. Bépa rnaauna moé miaree (dress).

6. S cmymaro (here: take) naTepéCHEI KypC.

7. Makc 6e3 KOHIIA YUTAET CIOBApb. (stress!)

8. CnaBa HOET UTATBSHCKYIO NECHIO.

9. XKéns 3akpwuia (closed) nBeps.
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&S Exercise2 Make the sentences conditional:

1. S yuyce B 'apBapae. S HUKOTIIA HE 3aHUMAIOCH.

2. On =e kyput. OH X0poIo ce0si 4yBCTBYET.

3.  My3bIKAHTHI UTPAITH XOPOIIYIO MY3BIKY. MBI TaHIIEBAJIH.

4. Wpa 6p1a B bepnine. OHA bET X0poOIIIee HEMEITKOE THBO.

5.  MbsI cMOTpuM pycckue GumbMbl. Mbl XOpoIIO TOBOPHUM MO-PYCCKH.

6. S 6uens xopomod moro. S He padbdTaro B MakaoHaIbICE.

7. BwI MBUHCE ceTONHSA. MBI HE TOBOPUAM 0 Bac (about you).
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